Film-Tech

The information contained in this Adobe Acrobat pdf
file is provided at your own risk and good judgment.

These manuals are designed to facilitate the
exchange of information related to cinema
projection and film handling, with no warranties nor
obligations from the authors, for qualified field
service engineers.

If you are not a qualified technician, please make no
adjuatments to anything you may read about in these
Adobe manual downloads

www.Film-tech.com



INSTRUCTION MANUAL
DPC

Xenon Projection Console

Type 25506

Rev. October 2001

>/
PN

STRON

INTERNATIONAL

v

STRONG
INTERNATIONAL

a division of Ballantyne of Omaha, Inc.
4350 McKinley Street

Omaha, Nebraska 68112 USA
Tel 402/453-4444 « Fax 402/453-7238






PREFACE

THE STRONG DPC Xenon Projection Console isdesigned and manufactured by Strong
International for use with Digital Light Projectors (DLP). The console lamphouse incorporates an interfer-
ence-coated deep elipse nickel reflector mounted in afixed position, and utilizesahorizontal xenon bulb asthe
light source. The standard reflector is15.325inchesin diameter and mounts 30 inchesfrom theimage plane of the
projector.

A SIMPLIFIED CONTROL CIRCUIT ignitesthexenon bulb usingaDC PulseIgniter Assem-
bly. Theigniter operates when provided high DC open circuit voltage normally developed by the xenon power
supply at start-up, and requires no AC inputs. Operating current is displayed on the ammeter, and pressing the
LAMP VOLTS switch will indicate the DC voltage at the arc. An optional digital readout screen provides a
continuous display of current, voltage, wattage, and elapsed hours.

SERVICE AND MAINTENANCE are accommodated by hinged access doors. Key locks
assure access to authorized personnel only. Interlock switches at the rear and both lamphouse access doors
disable operation of thexenon bulb if these doors are opened during lamphouse operation.

AIRFLOW INTERLOCK SWITCHES, installed at the lamphouse upper blower inlet and at
the base of the exhaust duct, will prevent bulb ignition if the blowers are not operating. The switches will also
interrupt operation of the bulb if air flow falls below an adequate cooling level.

ADJUSTMENT CONTROL Sto position thexenon bulbinrelation tothe reflector are located
on the back of the bulb enclosure. A small access door is incorporated in the rear access door to permit
manipulation of the bulb adjustment controls while the lamp is operating. The body of the control mechanism
allows horizontal and vertical movement of the bulb, and rotation of the threaded center section adjusts bulb
focus. Lock screws securethe mechanism when the bulb is correctly positioned.

A MANUALLY OPERATED DOUSER permits shutting off the light to the projector. The
douser isnormally leftinthe OPEN position when thelamp isused in conjunction with an automation system.
To prevent deterioration of the douser plate, do not operate the lamphouse for a prolonged period with the
douser closed. Do not, under any circumstances, operate the lamphousein excess of (25) minuteswith the douser
closed. Observe the HIGH TEMPERATURE warning on the lamphouse snood adjacent to the douser handle.
Surface temperatures may reach hazardous |evelswhen the bulb is operating.

DPC/001



DIGITAL PROJECTION CONSOLE (“DPC")

Exhaust Stack, 9 Inch Diameter

Lamphouse
Control Panel
“LAMP”
Switch

Douser Handle

Lamphouse

Access Door

__\Projector

Mounting Arm

Circuit

Cooling Blower

Breakers

Xenon Power
Supply Access

Door

.
7

(Leveling Feet not shown)

DPC/002




RECEIVING & INSTALLATION

INSPECT THE SHIPMENT immediately and report any damageto the freight carrier. It is
the responsibility of theconsignee, not theshipper, to press damage claims. Strong International will provide
shipping documents upon request.

MOVE THE CONSOLE on its base pallet as far as possible to its intended location. After
removing the console from the pallet, install the four leveling pads and level the console to the booth floor.
NOTE: If thebooth floorisa soft material, such aslinoleum, it isadvisableto obtain four steel plates measuring
approximately 4inch x 4inchx 1/4inch (100 x 100 x 6.3mm) to place under theleveling padsto prevent “ settling.”

THE LEVELING FEET on the console are adjustable by loosening the locknut and raising
or lowering the corner by turning the stud of the leveling foot with an end wrench. Retighten the locknut
after leveling the console.

THE OFF-OPERATOR SIDE DOOR is equipped with asix-inch (15.2cm) blower for cooling
the xenon power supply. Check the molded plug electrical connections for good contact; vibration from
shipping and handling may loosen this connection.

CORRECT INSTALLATION of thedesired xenon bulb inthe DPC isdetermined by the size of
the cathode support collet installed in thelamphouse. The collet installed is determined by the bulb model and
type specified on the origina equipment order. Open thelamphouse accessdoor, removethe stainless stedl bulb
compartment cover, and examine the cathode support collet. Notify your Strong International Dealer if the
collet is not appropriate to your desired xenon bulb.

Bulb Collet Overall Socket
Wattage Part No. Length Diameter
2000 & below 72-00064 4-1/2" (10.4cm) A75" (12mm)
2000, 3000 “HS’ 72-00142 4-11/16" (11.9cm) 312" (8mm)
2500 “HS’ 72-00142 4-11/16" (11.9cm) 312" (8mm)
3000 72-00065 3-5/8" (9.2cm) 551" (14mm)
4000-4500 “HS’ 72-00066 3-1/2" (8.9cm) 312" (8mm)
5000* 72-00067 3-7/8" (9.8cm) 710" (18mm)
5000-7000 “HS’ 72-00066 3-1/2" (8.9cm) 312" (8mm)
3000-7000 “H/VC” 72-00065 3-5/8" (9.2cm) 551" (14mm)

* Osram XBO5000W/H OFR; other types, consult Factory

DPC/003




EXHAUST SYSTEM INSTALLATION

THE EXHAUST STACK of the console lamphouse is designed to fit an nine inch (228mm)
diameter duct. Thissizeducting must be used throughout the entire system and instaled to eliminate any
possibility of downdraft or rain dripping into the lamphouse. The exhaust blower must be capabl e of removing
300 cubic feet (8.5 cubic meters) of air per minute for bulb wattages ranging from 1000 to 3000 watts, and 500
cfm (14 cubic meters) for 4000 wattsand higher. Install bypassesrather than dampersif it isnecessary to restrict
theair flow.

IF MORE THAN ONE CONSOLE is installed in acommon projection booth, the above
exhaust air flow must be measured at each individual console’s exhaust stack. Inadequate exhaust draft can
contribute to premature xenon bulb failure.

BYPASS

Qas req'd.) 9"
L
o N4 é

/
&

9||

DPC/004




WIRING INSTALLATION

ALL INSTALLER CONNECTIONS to the DPC are made to the five-terminal barrier strip
(TB1) anditsadjacent ground lug located behind the rear access door between thelamphouse burner plateand

the xenon power supply.

BECAUSE OF HIGH VOLTAGES impressed during the ignition cycle, the console must be
grounded. Connect an adequate earth ground to the grounding lug adjacent to the terminal board.

THE AC REQUIREMENT for the DPC is a four-wire three
phase line (three phase plus neutral), with a separate earth ground.  Voltage

requirements are stamped onto the Name and Data Plate. All branch circuits N [ ] )2
are derived from this main input. The AC supply must be installed by a 112f3f4]5s
qualified electrician in conformance to local codes. Hardware, wire sizes OlDe|D|@
and conduit types must comply with local codes. A readily accessible discon-
nect device shall beincorporated in the AC supply lineto permit the operator to | | |
turn off all power to the consoleif required. Installer connectionsincludethree  =—="" 19 20 21
phase*hot” connectionsto Terminals 1, 2, and 3, and aneutral connection L
to Termina 5. A jumper wire from Terminal 5 to Terminal 4 may be added if =
additional neutral feedsarerequired.
TB1-1 19 Q o |, o—16—
| |
| I
| 1
TB1-2—20 i 5 | 17—
| |
| |
TB1-3 21 * i ¢ o) o—18—
T | 16,17, & 18 to
22 23 24 | I Xenon Power
L - l _____ . Supply
5A. R
i |
to Digital Display
L — A |
10A 8 I
Outlet |
I
5 o)
© joa © & b

TB1-5 Neutral

O-----0 Dotted Lines = 380/440 V. Connections (Export)
o——-0 Dashed Lines = 208/230 V. Connections (Domestic)

DPC/005




SAFETY PROCEDURES

THE XENON BULB ishighly pressurized. When ignited, the normal operating temperature of

the bulb increasesthe pressure to alevel at which the bulb may explodeif not handled in strict accordance to the
manufacturer’s operating instructions. The bulb is stable at room temperature, but may still explodeif dropped
or otherwise mishandled.

REFER bulb replacement and serviceto QUALIFIED PERSONNEL with adequate protective cloth-

ing (faceshidd, clean cotton gloves, welder’'sjacket). For routinelamphouse service, observethefollowing rules:

1

wmn

10.

11

Allow the bulb to cool to room temperature before opening the lamphouse. Put on protective clothing
described above.

De-energize the xenon power supply at the AC source before opening the lamphouse compartment.
When possible, encasethebulbin itsprotective cover when cleaning or servicing the lamphouse
interior. The bulb, when outside the lamphouse, must be encased in the cover.

Clean the bulb after it has cooled to room temperature. Do not touch the quartz envelope of the
bulb; fingerprintswill burnin and create hot spots which may shorten bulb life. If fingermarksare
made, they should be carefully removed with methyl alcohol and cotton prior to bulb operation.
Never view anignited bulb directly. BLINDNESS OR PERMANENT EYE DAMAGE MAY BE
INCURRED.

Use only xenon bulbs designated as OZONE FREE. When possible, vent the lamphouse exhaust
to outside atmosphere.

Maintain the lamphouse blower in good operating condition. Keep the blower inlet clean for unre-
stricted air flow.

To insure maximum bulb life, operate the lamphouse blower and the exhaust system for at least ten
minutes after extinguishing the bulb.

If returning abulb for warranty adjustment, pack it in itsorigina shipping container. Com-
plete and return all required warranty information.

Dispose of expired bulbsthat are beyond warranty in the following manner: Wrap the bulb tightly
in several layers of canvas or heavy cloth. Placeit on ahard surface and shatter the envelope with
asharp hammer blow. DO NOT place an unshattered bulb in an ordinary refuse container.

DO NOT PERMIT UNAUTHORIZED PERSONNEL TO PERFORM OR ATTEMPT ANY
PHASE OF XENON BULB HANDLING OR SERVICE.

CATHODE PIN ANODE SEAL

CATHODE /—\ AN /_ANODE PIN
g |
'\ MLOPE /

CATHODE END CAP ANODE END CAP

DPC/006



DPC XENON BULBS

THE FOLLOWING XENON BULBS are approved for use in the Strong DPC. Bulbs not
listed below must be certified by their manufacturer as being 100% interchangeable, and be classified as ozone-
free. Dimesionsof 5000 watt bulbs vary by manufacturer; consult factory.

OSRAM® Hanovid® ORC® Lighting
WATTAGE Part No. Part No. Part No. Technologiesint’l.
1000 XBO1000W/HS OFR XH1000HS XM1000HS LTIX-1000W-HSC
1600 XBO1600W/HS OFR XH1600HS XM1600HS LTIX-1600W-HSC
2000 XBO2000W/H OFR XH2000HW XM2000H/VC  LTIX-2000W-HC
2000 (short)* XBO2000W/HS OFR XH2000HS XM2000HS LTIX-2000W-HS
2500t XBO2500W/HS OFR XH2500HS XM2500HS LTIX-2500W-HSC
3000 XBO3000W/H OFR XH3000HW XM3000H/VC  LTIX-3000W-H
4000-4500 XBO4000W/HS OFR XH4200HS XM4500HS? LTIX-4500W-HS
7000 XBO7000W/HS OFR XH7000HS XM7000HS? LTIX-7000W-HS

! Requires Anode Adapter 40293 but no Cathode Adapter
2 dlso available in H/VC configuration using 24180 Support Collet

A CATHODE ADAPTER isrequired for 1000 and 1600 watt bulbsonly, and issuppliedinthe
accessory kit only when these wattages are specified on the original equipment order. The stem of the cathode
adapter is designed for use with the standard 2000 watt bulb support collet 24179 (12mm |.D. socket). Anode
adapters, where used, mount to the bulb’s anode pin with a 1/4-20 set screw (supplied).

THE CATHODE ADAPTER isdrilled and tapped 5/16-18 to accommodate the threaded cath-
ode pin used on the 1000 and 1600 watt bulbs. When screwed onto the cathode pin, the adapter positionsthe arc
at the correct focal point. The chromed anode adapter mounts to the pin of the anode end cap, and restsin the
bulb yoke in front of the reflector to support thefront of the bulb. A lead assembly (71969) is attached to the
31243 anode adapter to supply positive DC current to 1000 and 1600 watt bulbs.

1000, 1600 Watt

Cathode Adapter Xenon Bulb Anode Adapter
65169 31243
[ " Set Screw 41-51185 ——=8
ml g 0 F > (— < A ——

Screw 00685 —»@m—‘ -
\_ 5/16-18 Thrd. O

Anode Lead 71969

ASSEMBLE THE ADAPTERSto thebulb prior toremovingtheplastic protective covering. DO
NOT apply mechanical stresstothe quartz envelope. Firmly tighten all fastenersbeforeinstalling bulb and adapters.

DPC/007



XENON BULB INSTALLATION & OPERATION

Only qualified and trained professional technical personnel are allowed to operate the
A equipment. Refer service and maintenance to trained personnel. Untrained personnel
are not allowed in the projection booth during operation, service, or maintenance.

OBSERVEALL SAFETY PROCEDURESwhen working around the xenon bulb. Leavethe
bulb in its protective plastic cover whenever possible, and remove immediately any fingerprints accidentally
placed on the quartz envelope.

OPEN THE LAMPHOUSE COMPARTMENT ACCESS DOOR and dismount the cover plate
from the xenon bulb enclosure. Set the cover plate and thumb screws aside. Slide the contact clamp on the
igniter lead over the slotted brass socket portion of the rear support collet.

CONNECT THE ANODE LEAD tothepositive (+) end cap of the xenon bulbif theleadisnot
factory attached. Tighten the connection firmly toinsureasecure electrical contact and to prevent overheating.
Anode leads normally use uninsulated wire; alength of silastic rubber tubing is supplied as an insulator.

HANDLE THE BULB by themetal end capsonly. Insert thebulbinto thereflector, passingthe
cathode (-) end cap through the center holein the back of the reflector. Sest the cathode pin, or the stem of the
cathode adapter, into the socket of therear bulb collet asfar aspossible to permit full focustravel. Rest the anode (+)
end cap or anode adapter in the bulb support yoke in front of the reflector.

SECURELY TIGHTEN the socket head clamping screw in theigniter lead contact clamp.
Make certain the cathode (-) pinisfirmly secured to the socket of the bulb collet. Attach the terminal of the
anode (+) lead to the stud of the binding post located adjacent to the front bulb support. Dressthe anodelead in
front of the support yoke to minimize shadows. Insulate the bulb lead using the silastic rubber tube as required.
Tighten the fastening hardware securely to insure good el ectrical conduction.

REMOVE THE PLASTIC COVER fromthexenonbulb. Replacethe cover plate over thebulb
enclosure and secure with the thumb screws.  Close and lock the lamphouse compartment accessdoor. Turnon
thelamphouse exhaust system.

ENERGIZE THE CONSOLE AC INPUTS at the main breaker panel. Place the switching
circuit breakersin the ON position. The POWER light on the analog control panel will glow, and the AIR and
DOOR lightswill glow when their interlock switches close. The backlighting of the optional LCD screen on the
digital control panel will glow. The cooling fanswill start. Operation of the cooling and exhaust blowers will
actuatethe air flow switches.

THE DIGITAL CONTROL PANEL includes no indicator lights. The POWER ON state is

indicated by the display being backlit and showing zero current and voltage. Failureto turn on exhaust air or
to secure access doors is displayed as “CHECK EXHAUST” or “CHECK DOOR.” A flashing asterisk (*)

DPC/008




BULB INSTALLATION & OPERATION (continued)

indicates that the display is active and awaiting inputs. NOTE: the interlock detection circuit features afive
minute “bobble” delay to alow the exhaust blower to reach full speed and eliminate air flow backdrafts.

IGNITE THE XENON BULB by pressing the LAMP rocker switch on the lamphouse control
panel. Whenthisswitchisclosed, the lamphouse control circuit will energizethe coil of the xenon power supply
contactor. When the initial high DC “no load” surge from the power supply reaches 130 volts, the DC Pulse
Igniter will energize. The igniter will supply ahigh voltage pulse across the el ectrodes of the xenon bulb.

THE HIGH VOLTAGE IGNITER PULSE, coupled with the high DC open circuit (“no load”)
voltage from the xenon power supply, will ignite the xenon bulb. A *cold” bulb will generally ignite after one
pulse; abulb still warm from prior operation may require two or three pulses. A short delay between ignition
pulses, as power supply capacitors re-charge, is normal.

UPON IGNITION, the DC voltage will fall to the low sustaining level required for continuous
operation. The DC Pulselgniter ceases operation below 130 V.DC. Allow a minute for the current to stabilize,
and check the operating current on the ammeter.

THE OPTIONAL DIGITAL DISPLAY will continuously read out DC current, arc voltage,
operating wattage, and elapsed time. No switching isrequired to change display modes. The flashing asterisk
symbol (*) will turninto aplus (+) sign until the bulb is extinguished.

ADJUST THE XENON POWER SUPPLY as required to provide the correct DC output to the
bulb. Directionsfor adjusting the DC output of the xenon power supply areincluded in the separate Instruction
Manual furnished with the power supply. Do not exceed the maximum current specified for the rated wattage
of the bulb. See the warranty information packaged with the bulb and comply with the manufacturer’s
recommendations. Thefollowing figuresmay serve asaguidelineto complete this phase of theinstallation; inthe
event of conflict, the bulb manufacturer’sfigures shall prevail.

Bulb Nominal DO NOT
Wattage Current EXCEED
1000 50 A. 58 A.
1600 65 A. 70 A.
2000 75A. 90 A.
2500 N A. 100 A.
3000 9B A. 100 A.
4200 135A. 150 A.
5000 145 A. 155 A.

7000 150 A. 160 A.

DPC/009




BULB INSTALLATION & OPERATION (continued)

A NEW BULB isnormally operated at or slightly below the “nominal” current level. Asthe
bulb ages, the quartz envelopewill darken and the light output will decrease. To restore the light output, the
operating current can be gradually increased to, but not exceeding, the maximum current. Because of manufac-
turing tolerances on xenon bulbs, onelamp in atwo-machine booth may operate at adightly higher or lower

current setting than the other to balance the light on the screen.

ONCE OPERATING at its correct current setting, position the consoleto center the light on the
screen. The optical system of every DPC islaser-aligned at the factory in the course of assembly and testing.
Thisalignment procedure positionsthereflector to best collect the light generated by the xenon arc and project it
to theimage plane. Thefocal distanceisthe space between the arc and the reflector, and is determined by the
use of the correct bulb support collet. Theworking distance is the space between the digital image plane and
center hole of thereflector, and is set by the dimensions of the projector mounting arm casting.

A SUPPORT BRACKET, designed to positionthe
light input to the digital projector directly on the optical center of
the console lamphouse, isfactory installed on the consol€'s mount-
ing arm. Do not alter the position of this bracket prior to mounting
thedigital projector. Two alignment pins, (1) keyed and (1) round,
conform to holesin the base of the digital projector.

BEFORE MOUNTING THE PROJECTOR, open
thelamphouse douser and project awhitelight to the screen. Exer-
cise extreme caution during this procedure; intense heat is present
in the light beam, and skin and clothing can burn rapidly if held in
thelight beam. Itisfurthermore mandatory to wear the UV protec-
tive goggles supplied in the consol e accessory kit when performing
this operation. Do not look into the lamphouse, and advise by-
standersto look away from the console.

Anode Support
ShadowW e

Shadow the xenon bulb).

Reflector Hole
Shadow

PROJECTED IMAGE (without Lens)

Aligning Pin,
Round _

Aligning Pin,

Keyed
o

to Projector Arm
on Console

THE IMAGE projected to the screen, without
the projection lens, isthat of the center hole of the reflector,
Anode and the shadow of the anode (the larger of thetwo electrodesin
The projection of the anode shadow wiill
appear on the screen as adarker spot surrounded by the grey
area of the reflector center hole. The darker areas will not
necessarily be centered on the screen, or appear as concentric
asthoseillustrated. Thelocation of the bulb, and the position
of the consoleitself, must be shifted to achieve an image such
asthatillustrated. Locatefirst the Bulb Adjustment Controls.

DPC/010



BULB INSTALLATION & OPERATION (continued)

THEBULB POSITIONING MECHANISM ismounted to the back of the bulb enclosureinside
the lamphouse compartment, and is accessible through the small hinged door in the rear console access door.

BULB ADJUSTMENT CONTROLS

THUMB SCREW FOCUS CONTROL

FOCUS LOCK SCREW

THE CENTER SECTION of the control isathreaded member that focusesthe bulb in relation
to the reflector.  Turning this adjustment moves the bulb in only one plane, into or away from the reflector.
Clockwise rotation moves the bulb away fromthereflector. Thesmall knurled screw to theleft of this section
can betightened to lock the focusing mechanism, after the following procedures have been compl eted.

THE THUMB SCREWS on either side of the focusing control lock the horizontal and vertical
adjustment mechanismin position. Thethumb screws are spring-loaded to apply adegree of tension between the
mechanism housing and the back of the bulb enclosure.

TURN THE CENTER FOCUSING SECTION of the bulb positioning control until the smallest
black spot obtainable isfocused on the projection screen. It may be best to run this adjustment both directions
to permit positiveidentification of the spot. The position of the spot may beto theright, |eft, top or bottom of
the screen, and not necessarily at the center.

LOQOSEN the two thumb screws, one on either side of the focusing section just enough to
permit manual movement of the complete assembly. The bulb adjustment control will how move about these
two spring-loaded thumb screws, and asthis control is shifted, the smooth shadow of the el ectrode can be seen
extending beyond the projected holeinthereflector. Movethe control section around the two thumb screws
until the black spot is as round as possible to project. It may be necessary to again adjust the focus control to
define asharp spot. The electrode shadow must be centered in the projected hole of the reflector.

AT THIS TIME, the console base should be moved to center the dark spot horizontally on the
screen, and the consol e tilted to center the dark spot vertically on the screen. Loosen the (2) tilt locking screws
before operating the scissors jack to set the projection angle. The tilt locking screw on the operator’s side is
accessible by removing the cover plate bel ow the breaker panel (see Figure 1, Iterm 19), and on the off-operator’s
side by opening the off-operator side access door.

DPC/011




BULB INSTALLATION & OPERATION (continued)

IF THE BULB ADJUSTMENT CONTROL is at its extreme

u limit of travel (left-to-right or top-to-bottom), shut off the lamp, allow the

bulb to cool, and open the lamphouse door. Removethe stainless steel bulb

3.0.3.5 inches enclosure cover and loosen the set screw securing the front bulb yoke. Re-
(76-89 mm) position the yoke left-to-right or up-and-down to compensate.

THE FRONT BULB SUPPORT YOKE is adjustable and is
factory-set to accommodate the end cap diameter of the xenon bulb speci-
ﬁ] fied on the sales order. A height of 3-1/8 to 3-1/4 inch is normal for most

N\ commonly used bulbs, but bulbs with larger diameter end caps (i.e. ORC

Lock Nut 4500 and 7000 watt models) may require setting the yoke as low as three

inches. To adjust theyoke position, loosen the set screw in front of theyoke,

\ Set Screw and raise or lower the yoke asrequired. A hex nut is provided to lock the
height once selected. Re-tighten the set screw when finished.

\ﬂ
AFTER THE BLACK SPOT isas even around the outside

as possible to project, and centered in the shaded area as shown on the
TOWARD SCREEN preceding page, tighten the two thumb screws to lock the adjustment
- section.  This adjustment has now centered the projected image of the
electrode shadow and the hole in thereflector on the aperture and screen.
If the spot raisesor lowersasthefocusscrew isturned, itisnecessary to re-
(-m]—} adjust the front bulb yoke asinstructed above.

TOALLOW FOR MANUFACTURING TOLERANCES n overall bulb length and/or fabri-
cation of the stainless steel bulb enclosure, an additional degree of fine adjustment is available by changing the
position of the snap ring(s) retaining the bulb support collet initsbearing. Usethisfeatureonly if the proper focal
position cannot be gained by use of the focus screw.

TOREPOSITION THE COLLET, extinguish the bulb and allow thelamp to cool. Observingall
safety precautions, removethe xenon bulb. From therear of the bulb enclosure, remove the 21-48027 Snap Ring
(see Detail drawing, Figure 2 Parts List) and withdraw the collet from the inside of the bulb enclosure. Position
theinner snap ring as required, and re-install the collet by securing the outer snap ring.

CLOSE THE LAMPHOUSE DOUSER and extinguish the xenon bulb by placing the LAMP
switch inthe OFF position. Install thedigital projector to the moutning bracket on the front of the console. Make
certain the (2) registration pinsare correctly aligned before securing the mounting hardware. Make all electrical
connections as specified by the projector manufacturer. Energize the projector and select a*100% White” test
pattern. Ignitethe xenon bulb and open the lamphouse douser. Maximize the screen illumination according to the
projector manufacturer’sinstructions.

DPC/012



BULB INSTALLATION & OPERATION (continued)

THE IDEAL “FLAT” FIELD denotes a pattern of light without a distinct “hot” spot in the
center of the screen, and only adlight reduction of light inthefour corners. 1f the screen light cannot be properly
maximized by projector adjustments, or if the position of the projector mounting bracket shifted in transport, there
are additional measuresto adjust lamphouse light output.

THE REFLECTOR BULK-

HEAD CASTING isfixed to the lamphouse
burner plate and requiresno adjustment. The  (4) Socket Head Tie-Down Screws
entire burner platemay be adjusted by loos- (Washer not shown)
ening the (4) socket head tie-down screwsand
shifting the burner plate on its base plate.
Alternately tightening and loosening the (6)
headless adjusting screws will raise or lower ~ (6) Headless Adjusting Screws
the front or back of the burner plate, thereby (Locknut not shown)

redirecting thelight beam.

Projector Bracket
Mounting Screw (4) _ 4]
Vertical Adjust /
(Upper)/
Arm Mounting
(@) Screw (4)
Horizontal

N
/; Adjust (4)

©

[qnin

Base Plate,
Projector

Mounting
Bracket

Vertical Adjust (Lower)

IFREPOSITIONING THE BURNER PLATE fails
to achieve maximum light utilization, the projector mounting arm
provides a second method of adjusting the alignment between the
console and the digital projector. Loosening the (4) hex head arm
mounting screws, and alternately tightening and/or |oosening the (6)
headl ess adjusting screws movesthe position of the projector.

LOQOSEN each of the (4) hex head arm mounting
screws approximately one-half turn with a 9/16 inch end wrench.
The mounting arm can then berel ocated by alternately tightening or
loosening the (6) adjusting screws using a 3/16 inch alen wrench.
Adjusting the top and bottom screw movesthe mounting arm up and
down, and adjusting the four screws on the sidesmovesthearmina
horizontal plane.

WHEN re-checking projector alignment, the four
hex head arm mounting screws must be retightened. Make certain
the four arm mounting screws are secured upon completion of the
alignment procedure.

USE EITHER, or both, fine aignment procedures
toinsure maximum screenillumination. It isnot necessary to repeat
these procedures unless either the lamphousereflector or thedigital
projector isreplaced.

DPC/013



BULB INSTALLATION & OPERATION (continued)

TO EXTINGUISH the xenon bulb, turn the LAMP rocker switch on the lamphouse control
panel to its OFF position. Power readings on the display will fall to zero. Leave the console power ON to
permit the blowersto operate and cool the bulb. Allow the blowers to operate for at least ten minutes after
turning off the xenon bulb. A forced-air cooling cycleisrequired by xenon bulb manufacturersin order to
fully comply with bulb warranty requirements.

RECORD THE HOURS of xenon bulb operation on theinside back cover of thismanual. Use
the (HR) figure displayed on thedigital unit, asthisfigure indicates total system hours. Instructions for re-
setting the (BLB) display follow inthe DIGITAL DISPLAY section.

WHILE XENON BULBS generally will continueto performwell beyond their stated warranty
life, no credit will be allowed by the bulb manufacturer for damaged reflectorsinthe event of anexplosion if the
bulbisbeyonditswarranty period. This should be considered when determining the time of bulb replacement.

UPON REPLACING THE XENON BULB, it will be necessary to repeat only the bulb align-

ment procedures outlined above. Mechanical lamphouse adjustments detailed in the preceding section are
required only when areflector or projector isreplaced.

BULB ROTATION:

MOST XENON BULB MANUFACTURERS recommend and/or require rotation of horizontal
bulbs at 50% warranty life. Refer to the warranty information packaged with the xenon bulb for specific
requirements.

TO ROTATE THE BULB, loosen the socket screw in the cathode clamp and remove the
anode lead terminal from the positive binding post. Rotate the bulb 180 degrees, re-attach the anode lead
terminal, and tighten the cathode clamping screw.

IFTHEBULB’SANODE LEAD istoo short to reach the binding post from the rotated position,
an anode lead extension with fittings is available from Strong International Dealers. Order (1) each of Lead
Extension 71928, Connector 81349, and Insulation Tubing 71289.

ADJUST THE XENON POWER SUPPLY to increase operating current to or just below the
maximum level specified for thebulb. Project awhitelight to the screento check for an evenfield and correct the
bulb positioning asrequired. Operate the xenon bulb at thishigher current level for one or two performances, and
then return the power setting toitspreviouslevel. Temporary operation of the bulb at high current following bulb
rotation will restore the cathode tip and enhance ignition at the new arc position.

DPC/014



BULB INSTALLATION & OPERATION (continued)

BULB WARRANTY RETURNS

RETURN BULBS upon which awarranty claim is being made to the theatre equipment
dealer through whom the bulb was purchased. Pack the bulb initsoriginal shipping carton with the protective
cover over the bulb. Complete and enclose all warranty forms supplied by the bulb manufacturer.

WARRANTY CREDIT will not be allowed if the bulb failure isrelated to mishandling, incor-
rect installation, faulty supporting equipment, or abuse.

REFLECTORS damaged by a bulb explosion should be forwarded to the bulb supplier for
warranty adjustment. Include an invoice copy authenticating the cost of the replacement reflector.

DPC/015



ARC STABILIZING MAGNET ADJUSTMENT

THE ARC STABILIZING MAGNET islocated on the lamp base below the reflector. This
magnet is preset at the factory and should not require adjustment. If it should become necessary to adjust the
magnet, the following procedure must be followed. Observe all safety procedures when working in the
lamphouse compartment.

FIGURE A FIGURE B FIGURE C

THE NORMAL ARC, whenviewed through the arc viewing port, will appear asin Figure
A. Thisrepresentsthe correct magnet position.

FIGURE B showsthe position of the arc when the magnetis toolow. Raisethe magnet onits
adjustment bracket to lower the arc to the positionillustrated in Figure A. FIGURE C shows the position of the
arc when the magnetis too high. Lower the magnet to raise the arc to the position illustrated in Figure A.

THE MAGNET must always be installed with the longest portion of the magnet nearest the
bulb, and withthe SOUTH (S) pole pointing to the operator side access door. Reversing the magnet will cause
bulb flicker, and may inhibit bulb ignition.

IN NEW EQUIPMENT, the magnet isnormally inthe center of the adjustment range. Changes
in the magnet position are required only to correct an improperly burning arc (Figure B or C). Any replacement
magnet should first beinstalled in the center position of the adjustment range. Raise or lower the magnet as
required to center the arc asillustrated in Figure A.

DPC/016




MAINTENANCE
A WARNING: OPEN AC DISCONNECT BEFORE SERVICING UNIT. A

THE STRONG DPC requires very little maintenance to keep it in good working order. Rou-
tine cleaning of the equipment isthe most important element, and cleaning interval sare determined by the dirt and
dust conditions at the installation site.

THE REFLECTOR should be cleaned with a soft, clean, dry cotton cloth every two weeks. |If
excessively soiled, acommercia liquid glasscleaner may beused. Useno abrasives. Exercise extreme care not
to scratch or fingermark the coated surface.

CHECK ALL ELECTRICAL CONNECTIONS periodically for tightness. Particular attention
should be paid to the DC connections at the bulb, the shunt, and the positive binding post.

THE BULB should be checked regularly for presence of dirt or foreign material on the
envelope. Dirt or foreign materia must beremoved from thebulbimmediately, or they will burninto the quartz
envelope and shorten bulb life. NOTE: Observe al safety procedures when working around the bulb.

THE INSIDE of the lamphouse compartment and the blower intakes should be cleaned periodi-
cally, depending on the dust conditions at each installation. Keep all air inlet and outlet grilles clean and free
from obstructions.

BOTH THE FRONT AND TOPLAMPHOUSE BLOWERS require periodic lubrication. Oil
holes in the blower motor end bells are marked, and use of a sgueeze-type, plastic injection oiler is
recommended. NOTE: blower motorsarethermally protected, andfailure to routinely servicethem could cause
overheating and periodic shutdowns. Interruption of theair flow will open lamphouse interlock switches and
extinguish the xenon bulb.

THE SIX-INCH MUFFIN BLOWER in the off-operator side door isrequired for cooling the
xenon power supply. This blower, likethe built-in blowersused in the switching power supply, utilize sealed
bearings and requires no lubrication.

DPC/017




DIGITAL DISPLAY

UPON ENERGIZING the LAMP circuit, the backlighting will illuminate the LCD screen.
When all blowers are operating and all access doors are closed and correctly secured, the display will appear
similar to the example shown:

000V 000A 0000W
1234BLB 12345HR *

FOR PURPOSES OF ILLUSTRATION, the above display indicates a nhon-operating bulb
with 1,234 hours of useinstalled into aconsole with 12,345 hours of operation. The asterisk (*) at the end of the
second line, when flashing, indicates that the display is active and awaiting input. Upon bulb ignition, the
upper linewill display thearc voltage (V), theDC current (A), and the operating wattage (W) of thebulb. The
figures will shift for the first few moments of bulb operation, but will stabilize after the bulb reaches operating
temperature and pressure. A plus symbol (+) will replace the flashing asterisk.

IN THE EVENT of an openinterlock switch, thelower linewill display the appropriate diagnos-
tic measure, i.e. CHECK REAR DOOR or CHECK EXHAUST. Diagnostic messages are often abbreviated,
and are defined asfollows:

CHECK REAR DOOR: Make certain the rear console access door is closed and locked.

CHECK FRONT DOOR: Make certain the operator’s lamphouse access door (right side, viewed from
rear) is closed and locked.

CHECK NONOP DOOR: Make certain the lamphouse access door on the off-operator (left) side is
closed and locked.

CHECK EXHAUST: Make certain the exhaust blower has been switched on and is operating
without obstruction. A five minute “bobble’ delay in this circuit permits the
exhaust blower to reach full speed and eliminate air flow backdrafts.

CHECK TOP BLOWER: Make certain the large squirrelcage blower at the top of the consoleis ener-
gized and operating, and that the ducting to the bulb compartment is secure.

WHEN THE INTERLOCK CIRCUIT iscomplete, closure of the LAMP switch, or the auto-
mation closure, will energize the contactor of the xenon power supply. The high open circuit (“no load”) DC
voltage will be displayed. Whenthe open circuit voltage reaches 140 V.DC, theigniter will generate a RF pulse
to bridge the gap between the bulb electrodes. This pulse, coupled with the high open circuit DC voltage, will
ignitethe bulb. The voltage reading will then fall to the bulb’s sustaining level, and the DC amperes (A) and
wattage (W) will be displayed continuously until the bulb is extinguished. Theflashing asterisk symbol (*) will
become aplus (+) sign.

DPC/018



DIGITAL DISPLAY (continued)

ELAPSED HOURSwill begin counting upon bulb ignition. Bulb hours (BLB) are limited to
four digits, and can bere-set whenthexenon bulbisreplaced. To re-set bulb hours, pressand hold (for 3 seconds)
the RESET button accessible through marked hole below the LCD screen. The 5/64" allen wrench used to
tighten the front bulb yoke set screw isthe correct diameter to clear thehole. NOTE: when recording start-up and
removal hours on the Xenon Bulb Record, use the total elapsed hours (HR) figures. The (BLB) figure, re-set
upon installation of the bulb, is a convenience feature ONLY. Basing records of the lamp system on the total
hours (HR) figures permits an accurate and ongoing history of bulb usage.

IF THE XENON BULB failsto ignite, additional diagnostic messageswill be displayed on the
LCD screen:

CHECK PWR SUPPLY: If noDC currentissensed, or open circuit voltage does not exceed 125 V.DC, check
the xenon power supply. Repair or replace as required.

CHECK IGNITER: If the DC open circuit voltage reaches and exceeds 140 V.DC and the igniter fails
to pulse, replacetheigniter.

PRESSING and rapidly releasing the RESET button will display the last recorded diagnostic
message. The message will be erased after power is shut off. NOTE: Pressing and holding the RESET button
will set the BLB display to zero.

DIAGNOSTIC MESSAGES serve as prompts and suggestions but do not replace traditional
troubleshooting procedures. |If an access door is closed and secured but transmits an error message, check the
subject door interlock switch with an ohmmeter and replaceif defective. Dirt or dust fouling an air vane switch
will causea“blower” or “exhaust” error message. A “power supply” or “igniter” error message might be caused
by a loose or oxidized connection.

OBSERVE THE DC CURRENT READING (“Amperes’) when determining the operating level
of the xenon bulb. Bulb manufacturers specify amaximum current level which must not be exceeded regardless
of the “Wattage” reading on the LCD display.

DPC/019



DPC LAMPHOUSE

(P 2 O+ ?ﬁ CP (—B-‘ C1 ? DC from Xenon Pj;lver Supply

230 V-AC l 2 '-——_-l_j | OF 24275
> a3

X1 uuuud____ﬂ)_o 1 ___O/ O__\ BN

rW’Y“Y“f\ \ R1 /

@ SHUNT
\ 4
4

JS
O O O DLC. O
SRR
IGNITER
$6 “LAMP” 3
1 O BULB

0

o
Q
8
be] Q
! Ji J2 |8
o Control PCB, Digital Display S
Voltage Divider PCB

Ja (23976)

1

24275

J3 t a

! [elein/o]e]
Ja

1 J51  J61 Jio 1

Xenon Bulb Ignition
& Monitor Circuit

DPC/020




J1
S1 1>>/° // Z 1 Exhaust

H2 Air Flow
> 2

s2 s A Ha >3 Rear
"{Q // H4 N Door
A B> BI Intak
ower Intake
S3 ,>>/: / / s Air Flow
.: 7 6
5 A > 7 | amph
amphouse
S4 —lo // H8 8 Access Door
. g
[ H9
i

J12
5 A >4 sige
§5 —io / / HS Door

s

8~ YA T
e -
3
230VAC| » 12VAC AC. POWER
5 Hi4 ~
> > 2
1
H15 3
BROWN
P.S.—4 > wers 1 J10

ORANGE  H28 ~, o
7

P.5.—6 >

DPC Wire Harness

DPC/021




24275 Voltage Divider

PCB Assembly
(mounts to R1 Shunt)

TO BuLB

T0 P.S.

¢
b3 04

e el
€4 "
l:' D {— DIGITAL (DPC) Control Panel

%@@D&

24274000 PCB

woms | OREEN 16AWG 2171102

24275000 ASM

5

or p2 €2

DIGITAL

[ g ]

" @

STRONG  POS ON CAP
@ =¥

ANALOG

—L

9 INCHES

__r—' RED 16AWG 2171096

.:@))

LUG 85201

4 INCHES

Cut this jumper for use with

Cut this jumper for use with

L ANALOG?* Control Panel

NOTE: (1) Jumper must be
cut or replacement PCB will
not operate!

* other than DPC

LUG 79123
“ 4Ji-4
SHUNT BULB
03 4 ¢5
= O i 04 ) 4
.005UF IN4007 IN4007 -005UF
s —1-3
SHUNT P.S. o
_L c2 D1 1 e
T . L 02 R1 -
. 4007 A
cosur 1N4QO7 100 c3 i 005UF
.005UF i
o it [ W1-5
o0 GROUND
POS ON CAP 100K _—
M- 4J6-2
L
JB-1 1 et

Y5 ANALOG

DPC/022




PARTS LIST

DPC Lamp Control Wire Harness

Ref.
Desig. Part No.
Bl 11-33008
B2,3 25598
B4 71627
IGN 39862
- 39875
- 25476
J1 21-37058
J3 21-37055
J5 21-37056
J10  21-37057
J12  21-37057
R1 82167
S1 85109
- 24419
S2 24406
S3 85109
- 24419
HA 24406
S5 24406
X1  11-64004
- 56428A
- 41-62027
- 80195A
- 81252
- 94262
Ref.
Desig. Part No.

C1-C5 61-08025
D1-D4 51-17001

PCB
R1
R2
J1

24274
61-46002
61-46043
21-37051

Description
Squirrelcage Blower Assembly, 230 V.AC, 50/60 Hz.
Douser Blower Assembly, 230 V.AC, 50/60 Hz.
Blower, Side Door; 230 V.AC, 50/60 Hz.
DC Pulselgniter Assembly
Igniter Case & Coil, Potted Assembly
Igniter Printed Circuit Board Assembly
Connector, (8) Position
Connector, (2) Position
Connector, (3) Position
Connector, (5) Position
Connector, (5) Position
Shunt, 200 A. 50 mV.
Microswitch, Air Flow; Exhaust Stack
Air Vane Paddle
Door Interlock Switch, Rear
Microswitch, Air Flow; Top Blower
Air Vane Paddle
Door Interlock Switch, Lamphouse Access
Door Interlock Switch, Off-Operator Side
Transformer, 110/220 V.
Terminal, Spade Lug
Terminal, Auto Clip (Push-On)
Terminal, Ring
Butt Splice Connector (Small)
Butt Splice Connector (Large)

Voltage Divider PCB
Assembly No. 24275

Description

Capacitor, .005 pf, 3 kV.

Diode, 1N4007

Printed Circuit Board (less Components)
Resistor, 100 Ohm, ¥ Watt 5%
Resistor, 100k Ohm, ¥ Watt 5%
Connector, (5) Position

DPC/023




23976 DIGITAL DISPLAY CONTROL PC BOARD

€ Jo T abed
wreibeiq Bunipn

TOYINOD IN3YAND ¥O4
NOILVYNOLINY OL

50
227 z-60
hlA \-8r
VAGH
8-8r
£-8 I S
o-ar» T
S-8r 8z
¥-8r
SiNdNI  £=~8fr—
wnLnd T8
1=8r— ﬁ
<3
9920 20| 3423 aved Oopzd YT VHZD = v -
ane ek e ane s s | D
. 7 sanv
HYZD
i ._. ._. L ._. .ﬁ ._. n_u ._. -~ ZHOROZ -
g 392y X
> N -
HHHHHHE: — e
< P P < q < > s —~Z-¢r
. | nnmw St
—iitiiiiieiane M % A< 91 _
SRR RR R MR RN EERERERZERCOCN 6Ly H WS S t-cr
XHX%MJM]XMX%M% = w .ﬁm 4 <27
43/ N L ‘o™
2-11rs ! = s,.msi & . I0YINOD dNY
LU0 fF%  8dagvod § L NOILYWOLAY Ol
Fiabirie _ % Go0LESAL e
i n In B —
£-Ll | il £
- & u < ) IMS
L-1tr 3#8ezmnozseanscal i P ._. . \_. . ._y hs_.\_. 13538 SHNOH
S1NANI T - = -
SUNInd =Ll " : ] 33T v T ed T v
11 v N
Swent CF T
S-UUre Ae'e
y—Zlle I WW A < 8-1ir
€-TIre : DD, u:..m €1 t+—t LI
g N2 sl bz (B PF .« 9-Ir
: nr
1=2fe R3S (R3S RSS2k ary .
SHI0THILNI _ I041N0D wz* 1 s
v | oM(Ezoo 2o w < y-if
aszo | 2522 |8eed ae e —
ane | oaae g 3 g v oy —a Z-iF
| . viy 23 L s-1r
X¥140-021
en i SIHOLIMS XD0T¥IINI 01

DPC/024




23976 DIGITAL DISPLAY CONTROL PC BOARD

€10 z abed
wreibeiq Bunipn

GNNO¥D  1-GP»
AZE
1z
£-5r 10483 .
v v JnoaL | 2nooal %
r 2 HF ¢ad 4ni - 3N
i B.h. T 20
OVA O} AZS AZ » LR,
2 /HH/ (h mNn Y Y SN S0BLIA
10 en
» gt oot
. ] 1 05 =41
=G0 €a BYLENL mcw_m.y.; Sy
90 < -3
¥INYOASNVEL 0L
n_u <« G-0If
‘
s s anu R ane any et gl g 5 TS
8H os._‘ NNJ. &o._‘ _BH zu._v ma.— EH m_u.ﬁ <
_ VIl
e S ! U
10d 'S'd 01
v
« Z-0if
N ' -0
= = IOH o
11
ay i — S'd 0l
'l A =
4000t - ozy
ZJ ny ¥OLYYVANOD
. Pon: IAVS SUNOH SHLNE
aly s
217y va
" von
M AV13d
Moot ¢ 841N 128 2 12y .
ay s ¥ 8¢ J0¥INQD 'S'd
122N (), Nl g
13534 Ndd VAGH o £y

DPC/025




23976 DIGITAL DISPLAY CONTROL PC BOARD

€ Jo ¢ abed
wreibelq Bulipn

s
po IR T4Y 4nodL—- «y-Lf
=
A0t
ANA- ¢ L0
e TN o
Qen~ ® A0
A 42-L1
AN 3sn 3¥nind 404
ﬁ HllA =40
o noov- L " e
n—unu Hy 40T
£ A0L
AAA- < I-9or
asy
<
SiT0A <k . Y3QIAIG 39VYLII0A 0L
8sn
89N
%001 | oo (z-9r
v «2-9
384 o8y
AGOL niy-L uSZTP
angosL- 4nooL - % T
- ay N9 ey < 0 SA_'
M0L
o g-9f
Samy gey l_v
: om/D_«_ _A“H NLy INAKHS Ol
ven 0l 8T
A « y-9r
VY
X200t
—e AAA—
a8y

DPC/026




ANALOG CONTROL PANEL

m_.
A
Y
N

115VAC
BLOWERS €
DS1
@ S
‘POWER”
©, SIDE
1 f DOOR
BACK
DS2 DOOR
“DOOR”
DS3 FLDW
&
I/AIR/[
S4 /Lamp
DS4
"L AMP
C )
HOURS
R
ay AMPS lVDLTS
| @ C1 S5
o XENON
IGN. }-BLK. R1 : 3
" —REDj
A CB_I_ <L_||.__‘
! prd ] AUTD/
2 T REMOTE
B P T T T T T T vy

DPC/027



Ref.

Desig. Part No.
Bl1 25598
B2 25598
Cl 31909
C2 76323
C3 76323
DS1 81-30002
DS2 81-30002
DS3 81-30002
D$4 81-30002
- 7056-0007
IGN 39862
M1 2479-1216
- 2479-1214
M2 40191
R1 82167
R2 21-46059
S1 24406
S2 24406
- 21-61007
S1,2 39260
S3 85109
- 12-30538
- 39188
$4 23869
S5 23868

PARTS LIST
Analog Control Panel

Description
Front Blower Assembly, 115 V.AC, 50/60 Hz.
Front Blower Assembly, 115 V.AC, 50/60 Hz.
RF Suppression Capacitor, .01 pf, 1000 V.DC
RF Suppression Capacitor, 2 x 1.0 uf, 600 WVDC
RF Suppression Capacitor, 2 x 1.0 uf, 600 WVDC
POWER ON Indicator Light
DOOR Indicator Light
AIR Indicator Light
LAMP ON Indicator Light

Lens Cap, Green
DC Pulselgniter Assembly
Elapsed Time Meter, 60 Hz. (81-32001)

Elapsed Time Meter, 50 Hz. (81-32004)

Ammeter, 0-200 A.
Shunt, 150 A. 50 mV.
Resistor, 150k Ohm, %2 Waitt
Magnetic Interlock Switch Assembly
Magnetic Interlock Switch Assembly

Magnetic Actuator (for 24406)

Pushbutton Interlock Switch (Euro models)
Air Flow Switch

Mounting Bracket, Air Flow Switch

Air Paddle, Actuator Arm
Rocker Switch, LAMP
Rocker Switch, Momentary

HA, S5, and DS1-4 included with 24236 Printed Circuit Board Assembly.

DPC/028



TROUBLESHOOTING

IN THE EVENT of anignitionfailure, check first the messagesonthedigital display screen. It
will read out itemsto inspect and possible conditionsto correct.

The control circuit of the DPC operates on 230 V.AC. Exercise extreme caution when taking
readingsinsidethe console enclosure. Do not open thelamphouse enclosure until the bulb has cooled to room
temperature and the power supply and igniter capacitors have drained for (10) minutes.

Observeall safety procedureswhen working around thexenon bulb. |If the quartz envel ope of
thebulbisaccidentally touched, removeall fingerprintswith alcohol beforeigniting the bulb.

NORMAL OPERATION:

Theigniter operatesfrom the high DC open circuit voltage furnished by the xenon power supply
when energized. The115V.AC control circuit (5 & 6), whichisenergized when interlock and air flow switches
are closed, and the LAMP ON closure is completed, actuates the xenon power supply. The igniter then
generates the high voltage RF pulse to bridge the bulb arc gap. The RF pulse, combined with the high open
circuit DC voltage, are necessary to ignite the bulb.

Therewill beadistinct buzzing sound at the moment the xenon bulb ignites. Thisiscaused by
the spark gap in the igniter, and the high voltage arc between the bulb electrodes.

A short delay (two to three seconds) between contactor closure and the ignition pulse is not
abnormal. Thisdelay allows power supply capacitors to charge. A similar delay between strikesis normal
in the event multiple ignition pulses areneeded; a “warm” bulb, or an old bulb nearing expiration, sometimes
reguire more than oneignition pulse.

When the bulb ignites, the DC voltage drops to normal bulb operating range. The igniter
ceases operation at voltages below 130 V.DC.

TROUBLESHOOTING

Bulb FailsTo Ignite

1. NoDCcurrent. Switch MAIN LINE breaker ON.

2. Low DC*"noload” voltagefrom xenon power supply. Check noload voltage by observing voltage display.
Repair or replace xenon power supply if “no load” voltage does not reach 140 V.DC.

3. Defectivexenon bulb. Check for damaged or scorched electrodes, discolored quartz envelope or end caps.
Replaceif defective.

DPC/029



TROUBLESHOOTING (continued)

Bulb FailsTo I gnite (continued)

4.

5.
6

Faulty igniter. Arcat spark gap should beaudible, and arc acrossbulb electrodes should be visible through
arc viewing port. Repair or replace igniter if arc is not apparent.

DC output level too low. Increase power supply to rated bulb current.

Faulty automation contact. If lamp ignites by means of the“LAMP” switch, but failsto ignite automati-
cally, check automation controller.

Loose or faulty terminal connection. Visualy inspect connections, particularly in AC circuit (5& 6) and
all DC connections.

Ignition pulse arcing to ground. Dressall igniter and bulb leads away from grounded metal lamphouse
components.

Bulb GoesOut During Operation

=

Blocked bulb seal blower intake or defective blower motor. Clean or replace.

Air flow switch sticking or faulty. Clean or replace.

Exhaust system malfunction. Check for correct exhaust blower operation; unobstructed air flow through
ducting.

Overheated thermal switch in xenon power supply. Check for unobstructed air flow through power
supply; loose DC connection(s).

Blower motor overheated, internal thermal switch open. Allow to cool; clean and oil asrequired.

Faulty automation contact. |f lamp operates normally in“manual” mode (using“LAMP’ switch), check
automation controller relay.

Faulty xenon bulb. Check for damaged electrodes, darkened envelope, instability in operating current or
voltage. Replaceif defective.

Phase loss or unstable AC source. See xenon power supply manual; Strong switching power supplies
feature Phase Loss Detection and Brown-Out Protection circuits.

ExcessiveLight Flicker

pODOPE

Defective xenon bulb. Check for cracked and/or sagging electrode.

Arc stabilization magnet missing or reversed. Replace or correct.

Rectifier diode open or shorted (high reactance supply). Replace asrequired.
Excessive ripple in power supply DC output. Consult factory.

DPC/030



TROUBLESHOOTING (continued)

Reduced Light Output

1. Normal bulb aging. Increase current. Do not exceed maximum current rating specified by xenon bulb
manufacturer.

2. Defectivebulb. Check for discoloration or premature darkening of envelope.

3. Bulbdefocused or misaligned.

Noisein Theatre Sound System During Bulb I gnition or Operation

1. Defective RF suppression capacitor on Voltage Divider PCB. Check with capacitor tester and replaceif
defective.
2. Consoleor sound system hot correctly grounded. Connect to adequate earth ground.

A NOTICE A

The Strong DC Pulse Igniter stores energy in its capacitors after the
console has been de-energized. To prevent shock, this energy can be
discharged by placing the blade of an insulated-handle screwdriver across
the metal end caps of the spark gap.

The Strong switching-type Xenon Power Supply employs solid state
circuitry requiring sophisticated diagnostic equipment not generally avail-
able to field service personnel. If an ignition problem in the TROUBLE
CHART section is traced to this unit, contact an authorized Strong
International Dealer for further information.

DPC/031



FIGURE 1

See Figure 2

See Figure 3

* See Figure 4

DPC/032




PARTSLIST
Figure1

Iltem Part No. Description
1 11-33008 Squirrelcage Blower, 230 V.AC, 50/60 Hz.
- 4080370 Mounting Screw, 8-32 x 3/8" Pan Head
85109 Air Flow Switch (not shown)
- 24419 Air Vane Paddl e (not shown)
- 25188 Bracket, Air Flow Switch (not shown)
2 25577 Blower Intake Duct, Welded Assembly
3 25507 Off-Operator Side Door & Hinge Assembly
4 25214 Pull Handle, Black Plastic
5 71627 Blower, 230 V.AC, 50/60 Hz.
- 4082750 Mounting Screw, 8-32 x 2-3/4" Pan Head
- 4087101 Flatwasher, #8
4088001 Hexnut, 8-32
- 4087004 Lockwasher, #3
6 71307 Blower Grille(2req'd.)
7 25534 Base Plate, Projector Mount
- 4251002 Plate Mounting Screw, 1/4-20 x 1" Socket Head
- 4258001 Hexnut, 1/4-20
- 4257001 L ockwasher, 1/4"
- 71221 Nut Plate (not shown; concealed by Item 8)
- 01778000  Plate Mounting Screw, 5/16-18 x 1-3/4" Flat Head (4 req'd.)
- 4317000 Lockwasher, 5/16" (4req'd.)
- 4318001 Hex Nut, 5/16-18 (4 req'd.)
8 72-00001 Projector Support Arm Casting
- 4371505 Mounting Screw, 3/8-16 x 1-1/2" Hex Head (4 req'd.)
- 4377001 Lockwasher, 3/8" (4req'd.)
- 4377103 Flat Washer, 3/8" (4 req'd.)
9 72-00009 Digital Projector Mounting Bracket
- 4371750 Mounting Screw, 3/8-16 x 1-3/4" Hex Head (4 req'd.)
- 4377001 Lockwasher, 3/8" (4req'd.)
- 4377103 Flat Washer, 3/8" (4 req'd.)
10 71240 SlideBar (2req'd.)
11 11-40019 Twistlock Plug
- 4060501 Mounting Screw, 6-32 x 1/2" Flat Head
12 25536 Lower Front Panel
- 4100621 Mounting Screw, 10-32 x 5/8" Pan Head
13 25529 Base Frame, Welded Assembly
- 71184 Leveling Foot (4req'd.)
14 72-00032 Power Supply Support, Welded Assembly
- 4250503 Mounting Screw, 1/4-20 x 1/2" Hex Head
15 25509 Console Frame, Welded Assembly
- 31129 Pivot Shaft (not shown)
16 31993  Jack Swivel Bracket, Welded Assembly
17 25557 Divider Plate

DPC/033



PARTSLIST, Figure 1 (continued)

ltem Part No. Desciption
18 25511 Power Supply Access Door & Hinge Assembly
19 31163 Pivot Lock Cover Plate
20 25173 Transformer, Digital Display
21 25603 Distribution Panel Wired Assembly
- 25566 Panel (Iess Components)
22 81-61041 Circuit Breaker, 50 A. 3 Pole
23 25345  Circuit Breaker, 5 A
24 25347  Circuit Breaker, 10 A.
- 25348 Circuit Breaker, 15 A. (asreq'd.)
25 25508 Lamphouse Access Door & Hinge Assembly
26 25574 Digital Control Panel (see Figure 4)
26 31946  Analog Control Panel (see Figure 4)
- 31953 Hinge
27 31133 Cover Panel, Blank
- 25579 Hinge
28 25558 Sub Plate, Lamphouse Burner Plate
- 4100751 Mounting Screw, 10-32 x 3/4" Pan Head
29 24406 Door Interlock Switch Assembly
30 71284 Cam Lock & Keys (4 req'd)
31 25510 Rear Door & Hinge Assembly
32 11061 Blower Support Bracket
- 4080504 Mounting Screw, 8-32 x 1/2" Pan Head
33 25550 Exhaust Stack, 9 inch
- 4080370 Mounting Screw, 8-32 x 3/8' Pan Head
- 4088001 Hexnut, 8-32
- 4087004 Lockwasher, #8

DOOR INTERLOCK I

SWITCH ASSEMBLY 24406 ‘
mounts to Console Frame

21-40060
Mounting Screw: 4080310

24401

31-62037
(3) Pins

21-61006
80197

I
|
;
| MAGNETIC ACUATOR 21-61007
% (not shown) mounts to Door

4040370

DPC/034



FIGURE 2

1
Anode Lead l

generally supplied

with Item 16 Bulb 10

DPC/035



PARTSLIST

Figure 2
Iltem Part No. Description
1 25584 Bulb Enclosure Side Cover, Left
- 31875 Thumb Screw (not shown)
- 4108021 Tinnerman Nut, #10 (not shown; mountsto Item 2)
2 25562 Bulb Enclosure Housing, Welded Assembly
- 4110501 Mounting Screw (to Item 12), 10-24 x 1/2" Pan Head
3 23790 Igniter Mounting Bracket, Inner
- 4250503 Mounting Screw, 1/4-20 x 1/2" Hex Head
- 4257000 Lockwasher, 1/4" Split Ring
- 4258001 Hexnut, 1/4-20
4 39862 DC Pulselgniter Assembly
- 39875 Igniter Case & Coil, Potted Assembly
- 25476 Igniter Printed Circuit Board Assembly
5 25535 Igniter Mounting Bracket, Outer
- 4250503 Mounting Screw, 1/4-20 x 1/2" Hex Head
- 4257000 Lockwasher, 1/4" Split Ring
- 4258001 Hexnut, 1/4-20
6 76208 Capacitor Clamp
- 4080375 Mounting Screw, 8-32 x 3/8" Bind Head
7 76353  Capacitor, 10uf, 370 V.AC
8 40104 Reflector Bulkhead Casting
- 4370750 Bulkhead Mounting Screw, 3/8-16 x 3/4" Hex Head
- 4377000 Lockwasher, 3/8" Split Ring
- 4378001 Flatwasher, 3/8"
- 4371750 Bulkhead Mounting Screw, 3/8-16 x 1-3/4" Hex Head
- 4377000 L ockwasher, 3/8" Split Ring
- 4378001 Flatwasher, 3/8"
9 70162 Bulb Support Yoke, Welded Assembly
- 4108001 Hexnut, Height Adjust Lock
- 4080259 Set Screw, 8-32 x 1/4"
10 40107 Bulb Pedestal Casting
- 4310750 Mounting Screw, 5/16-18 Nylon
- 23980 Insulator Plate (not shown)
11 81301 Insulator, Positive Binding Post
- 4110500 Mounting Screw, 10-24 x 1/2" Socket Head
- 24263 Positive L ead Assembly, Feed-Through (not shown)
- 4378006 Hexnut, 3/8-16 Brass (not shown)
- 4377100 Flatwasher, 3/8" Brass (not shown)
12 25559 Lamphouse Burner Plate
- 4311750 Tie-Down Screw, 5/16-18 x 1-3/4" Socket Head
- 23912 Fender Washer
- 4311752 Burner Plate Adjusting Screw, 5/16-18 x 1-3/4" Headless

4318001

Lock Nut, 5/16-18

DPC/036



PARTSLIST, Figure 2 (continued)

Item Part No. Description
13 00M 15315 Arc Stabilization Magnet

- 81137 Magnet Clamp
- 4080259 Set Screw, 8-32 x 1/4"
- 71424 “L” Bracket, Magnet Clamp

- 4080310 Mounting Screw, 8-32 x 5/16" Pan Head

14 81247  Shunt, 200 A. 50 mV.

- 4110622 Mounting Screw, 10-24 x 5/8" Socket Head

- 4107001 Lockwasher, #10

- 24275 Voltage Divider PC Board (not shown)

15 25563 Bulb Enclosure Side Cover, Right

- 31875 Thumb Screw (not shown)

- 4108021 Tinnerman Nut, #10 (not shown; mountsto Item 2)
16 -- Xenon Bulb (by Customer)

17 25612 Reflector, 15.325" Diameter

- 81-51004  Shoulder Screw, 3/8" 5/16-18 Thrd.

18 65827 Bulb Adjustment Assembly (lessitem 19 Collet)
19 * Bulb Support Collet

* See Page 39

65827 BULB ADJUSTMENT MECHANISM

21-48027 65116
37985  Thumb Screw (2req’d.)

/\/ 15010 Compression Spring (2 reg’'d.)
>\ - 65150 65116  Casting, Adjustment Mechanism
O N 65150  Fender Washer (2 req'd.)
65153  FocusLockscrew
65154 Nylon Locking Ball
65959 65959

Focus Screw & Bearing Assembly

37985 : o
65153 21-48027 Snap Ring, Collet Retaining

DPC/037



FIGURE 3

PARTSLIST
Figure 3
Item Part No. Description
1 25545 Douser Heat Shield, Welded Assembly
- 4100375 Mounting Screw, 10-32 x 3/8" Phillips
2 57275 Plug Button, Chromed
3 25549 Heat Shield Spacer (9req'd.)
- 4100375 Mounting Screw, 10-32 x 3/8" Phillips
4 25567 Filter Ring Welded Assembly
- 40180 Heat Filter, Glass, 5¥2" Diameter
- 25396 Mounting Screw
5 25555 Filter Mounting Bracket
- 4080370 Mounting Screw, 8-32 x 3/8" Pan Head
- 4088001 Hex Nut, 8-32

4087004

L ockwasher, #8

DPC/038



PARTSLIST, Figure 3 (continued)

Part No.

Description

72-00005
4100500
81148
81432
25546
4100375
25556
4080370
81234
81187
25537
4100503
72-00004
4083000
25598
4250623
4257001
4258001
25614

45150A

25548
4250623

25547
4250623

Douser Heat Shield, Ceramic

Mounting Screw, 10-32 x 1/2" Socket Head
Douser Plate Casting

Shoulder Screw (attaches Plate to Item 15 Shaft)
Douser Arm Block (2reg’d.)

Mounting Screw, 10-32 x 3/8" Pan Head
Douser Stop Bracket

Mounting Screw, 8-32 x 3/8" Pan Head, Black Oxide
Rubber Bumper
Torsion Spring, Douser Shaft
Douser Housing, Welded Assembly

Mounting Screw, 10-32 x 1/2" Pan Head
Blower Intake Guard, Welded Assembly

Mounting Screw, 8-32 x 3" Round Head
Front Blower Assembly

Mounting Screw, 1/4-20 x 5/8" Hex Head

L ockwasher, 1/4"

Hexnut, 1/4-20
Douser Shaft & Handle

Handle Grip, Red Plastic (not shown)
Air Baffle Bracket, 70°

Mounting Screw, 1/4-20 x 5/8" Hex Head
Air Baffle Bracket, 47°

Mounting Screw, 1/4-20 x 5/8" Hex Head

DPC/039



FIGURE 4

DIGITAL CONTROL PANEL

5
Assembly No. 25574
Q ) \ K (Items 1 - 8)
s 6

9—\ 10—\ 11—\ 12—\

ANALOG CONTROL

b CURRENT

PANEL @ ADJUSTMENT

Assembly No. 31946 :

(Items 9 - 15) U

0 100 200

AMPERAGE/VOLTS 13
@4 |14
AR

LAMP

VOLTS

DPC/040




Item Part No.
1 23976
2 61-98022
3 71-40019
4 24087
5 23975
6 21-98543
7 23927
8 24086
9 31122
10 2479-1216
10 2479-1215
11 40191
12 62-70032
- 61-69002
13 81-30002
- 7056-0007
14 23868
15 23869
- 24236

PARTSLIST
Figure4

Description

Printed Circuit Board Assembly, Digital Control
Standoff, 6-32 x 1/2" Brass (2 req'd.)

Pin Header

LCD Display Assembly

Control Panel Plate (less Components)
Standoff, 1-1/8" Aluminum (4 req'd.)

Overlay, Adhesive Backed

LAMP Switch Assembly

Control Panel Plate (less Components)
Elapsed Time Meter, 60 Hz.
Elapsed Time Meter, 50 Hz. (Euro)
Ammeter, 0-200 A. 50 mV.
Current Control & Cable Assembly
Potentiometer (only), 10k Ohm
Light Emitting Diode (4 req' d.)
Green Cap
Rocker Switch, Momentary
Rocker Switch, LAMP
Printed Circuit Board Assembly (incl. Items 13,14, & 15)

DPC/041



REAR BULB SUPPORT COLLET ASSEMBLY

Nylon Rod

Clamping

Snap Ring Grooves

Bulb Collet
Wattage Part No.
2000 & below 72-00064
2000, 3000 “HS’ 72-00142
2500 “HS’ 72-00142
3000 72-00065
4000-4500 “HS’ 72-00066
5000 72-00067*
6000, 7000 “HS’ 72-00066

3000-7000 “H/VC” 72-00065

Roll PinJ

Cathode Clamp

Overal

Length

4-1/2" (11.4cm)
4-11/16" (11.9cm)
4-11/16" (11.9cm)
3-5/8" (9.2cm)
3-1/2" (8.9cm)
3-7/8" (9.8cm)
3-1/2" (8.9cm)
3-5/8" (9.2cm)

Socket
Diameter
A75" (12mm)
312" (8mm)
312" (8mm)
551" (14mm)
312" (8mm)
710" (18mm)
312" (8mm)
551" (14mm)

* Osram XBO5000W/H OFR; other 5kW types, consult Factory
2000, 2500, & 3000 watt “HS" bulbs require Anode Adapter 40293

Screw

Clamp
Part No.

65131
40965
40965
40966
40965
24430
40965
40966

Clamping

Screw
4080870
4080870
4080870
4080870
4080870
4101000
4080870
4080870

Anode Adapters required for 1000, 1600, 2000, 2500 & 3000 watt bulbs“ HS' type only.
See preceding DPC XENON BULBS section for adapter Part Numbers.

DPC/042



XENON BULB RECORD

LAMPHOUSE TYPE MACHINE NO.
WATTAGE NOM. CURRENT MAX. CURRENT AMPS.
DATE

BULB

LAMPHOUSE HOURS

MFGR.

SERIAL NO.

INSTALLED

ROTATED

REPLAGED







